Fast Lane



Training Centers DACH

Berlin	1
Hamburg	2
Frankfurt (Eschborn)	3
Munich (Garching)	4
Zurich	5
Vienna (iTLS)	6

More information and pricing: www.flane.de/en/raumvermietung

Berlin

You'll find our **Berlin** training site conveniently located in the Berlin-Mitte borough between the New Synagogue and the Art House Tacheles and next to the government district. The training center has very good transportation connection, hotels and restaurants are located in the immediate surrounding.

Rooms in total	Max. participants with PC use	Max. participants without PC use
7	16	32

Tour of the training centre Berlin: Click here

Overview of services:

- Full-HD Beamer
- Whiteboard and flipchart
- High-speed Internet access / WLAN
- High-performance PC with 16/32 GB main memory and 512 GB SSD plus 24-inch monitor
- Individual software installations and configurations

Further information: www.flane.de/en/school/berlin

Gallery:



Location Manager: Cornelia Küchler

Contact Ph.: +49 30 81451330 info@flane.de

Address:

Fast Lane Institute for Knowledge Transfer GmbH Oranienburger Straße 66 D-10117 Berlin Our **Hamburg training center** is located in a heritage-protected, lavishly restored industrial complex in Otto von Bahrenpark between the Elbe suburbs and Hamburg city center. The training center has very good transportation connections, and hotels and restaurants are in the immediate neighbourhood.

Rooms in total	Max. participants with PC use	Max. participants without PC use
8	16	32

Tour of the training centre Hamburg: Click here

Overview of services:

- Full-HD Beamer
- Whiteboard and flipchart
- High-speed Internet access / WLAN
- High-performance PC with 16/32 GB main memory and 512 GB SSD plus 24-inch monitor
- Individual software installations and configurations

Further information: www.flane.de/en/school/hamburg

Location Manager: Caroline Feer

Contact: Ph.: +49 40 25334610 info@flane.de

Address:

Fast Lane Institute for Knowledge Transfer GmbH Gasstraße 4a D-22761 Hamburg





Frankfurt (Eschborn)

Our **Frankfurt/Eschborn training center** is located between the beautiful Taunus and the impressive Frankfurt skyline. Our neighbors include Cisco, the German Telekom and the German Stock Exchange. An in-house company restaurant offers culinarily balanced treats for body and business. The training center has excellent transportation access to Frankfurt's main train station, airport, and the city center.

Rooms in total	Max. participants with PC use	Max. participants without PC use
7	17	32

Tour of the training centre Frankfurt (Eschborn): Click here

Overview of services:

- Full-HD Beamer
- Whiteboard and flipchart
- High-speed Internet access / WLAN
- High-performance PC with 16/32 GB main memory and 512 GB SSD plus 24-inch monitor with 22 inch Ekits
- Individual software installations and configurations

Further information: www.flane.de/en/school/frankfurt

Location Manager: Michael Klenk

Contact: Ph.: +49 6196 8820410 info@flane.de

Address:

Fast Lane Institute for Knowledge Transfer GmbH Ludwig-Erhard-Straße 3 D-65760 Eschborn



Fast Lane

Our **Munich training center** is located in an office building on the Business Campus in Garching, a modern office and service park. The training center has very good transportation connections, hotels and restaurants are nearby.

Rooms in total	Max. participants with PC use	Max. participants without PC use
7	16	30

Tour of the training centre München (Garching): Click here

Overview of services:

- Full-HD Beamer
- Whiteboard and flipchart
- High-speed Internet access / WLAN
- High-performance PC with 16/32 GB main memory and 512 GB SSD plus 24-inch monitor
- Individual software installations and configurations

Further information: www.flane.de/en/school/muenchen

Location Manager: Antje Müller

Contact: Ph.: +49 892 62075100 info@flane.de

Address: Fast Lane Institute for Knowledge Transfer GmbH Parkring 22 D-85748 Garching



Fast Lane

Our **training center in the Richti-Areal** is conveniently located in the immediate area of the Wallisellen train station, next to the Glattzentrum., hotels and restaurants are in the immediate neighbourhood.

Rooms in total	Max. participants with PC use	Max. participants without PC use
5	13	20

Tour of the training centre Zürich: Click here

Overview of services:

- Full-HD Beamer
- Whiteboard and flipchart
- High-speed Internet access / WLAN
- High-performance PC with 16/32 GB main memory and 512 GB SSD plus 24-inch monitor
- Individual software installations and configurations

Further information: www.flane.de/en/school/zuerich

Location Manager: Renata Fasi

Contact: Ph.: +41 44 832 50 80 info@flane.ch

Address:

Fast Lane Institute for Knowledge Transfer (Switzerland) AG Husacherstrasse 3 8304 Wallisellen (Zürich) Schweiz





We rent out modern equipped course rooms in our Business Class Training Center and support you in the professional courses of your events.

Rooms in total	Max. participants with PC use	Max. participants without PC use
6	12	20

Overview of services:

- Full-HD Beamer
- Whiteboard and flipchart
- High-speed Internet access / WLAN
- High-performance PC with 16/32 GB main memory and 512 GB SSD plus two monitors (20-inch and 24-inch)
- Individual software installations and configurations

Further information: www.flane.de/en/school/vienna

Location Manager: Gregor Röhrich

Contact: Ph.: +43 1 6000 880-0 info@itls.at

Address:

IT Learning Solution GmbH Gutheil-Schoder Gasse 7a 1100 Wien



Fast Lane